
FIBERTECH DOOR SYSTEM

Sidewall Door Opening 6'1"(w) X 6'9"(h)
FRAME PARTS:
C. Left Side “L” Shaped Leg.................................... 1

D. Right Side “L” Shaped Leg................................. 1

E. Extension Tube........................................................2

F. Door Closer with Arm...........................................2

G. Left Swing Door...................................................... 1

H. Right Swing Door................................................... 1

J. 6' Header..................................................................... 1

TOOLBOX:
— Tool Box....................................................................... 1

K. 8" White Channel.................................................... 1

—Top bracket for extension tube.........................2

— 5/16" Nylon Nut and Washer (Closer Arm).....2

R. 3" Carriage Bolts for Top Bracket...................2

A. 3/8" X 2-3/4" Bolts...............................................6

B. 3/8" X 3/4" Bolts for 8” Channel.....................2

N. 3/8" Nylock Nuts...................................................4

— 3/8" Flat Washers for Bolts in Header..........6

M. 1/4" X 1/2" Thumb Screws..................................4

— Combination Box/Ratchet Wrench................. 1

— Fibertech Brochure................................................ 1

— Door Closer Instructions...................................... 1

— Extra Hardware Bag............................................... 1

— Packing List............................................................... 1

Tent Door Assembly Instructions
1. � Insert Pc (K) into either Header Tube and secure with Pc (B) with Washer (Finger Tight).

2. �Slide opposite Side Frame Pc over Pc (K) and secure with Pc (B) with Washer (Finger Tight).

3.  �Drop Pc (J) over the top of header Tubes and align with Holes. Secure with Pc (A) Bolt & Washer. 
All Bolts may now be tightened being careful not to collapse tubes.

4. �Install frame where desired being careful to maintain equal distance top and bottom between 
jamb sections. For Tent with no Eave Tube, Extrusion Arms can install horizontally in Header, 
Attach to tent frame using Extension Arms (E) and Top Brackets.

5. Install doors and attach closer arms.

NOTE: Proper operation of the doors may require shimming under the base plates to obtain a true 
vertical jamb alignment.

RainierTent.com •800.621.2495

Double Door Crate Contents


